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5. a=18,c=13,LA=32°,/C=____

6. 6=22,/B=48" LC=62" b=

7. a=12,b=10, LA=42°, LB=___
8 a=3,b=38LA=30°,/B=__
9. b=27 LA=5B0° LB =75 ¢c=

10. 2=5,0=8,4B=38°, LC=____
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713

30.8
4.6
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7.9

22.9

93.3
37.8/142.2
655

225
16.4/164.6
185

73.8
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5 Law of Sine — Find the Missing Lengths and Angles , Joke #1&
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Solve the following word problems. Round your answers to the nearest tenth,
The answer to each problem will match a I@tter that Wl” allow you to ﬁgure out th@JOk@

1. A baseball pennant is in the shape of an isosceles triangle. The

3 base i5 18" long. The sides meet at an angle of 32°. How long are Ki 340.2 $
b i 2 . &
: the sides: @3\ . E: %47 :
: A= b g
/o N: 32.7 2
2 % 3
3 i L: 24606 ¢
» 2. Aguy wire o a telephone pole makes a ©7° angle with the ground. $
: At a point 20 ft. farther out from the guy wire, the angle of S: 8.8 $
3 clevatlon of the top of the pole is 25°. How long is the guy wire? g
3 Cin 0: 43.9 g
3 § ('\ &S
; oY fo, L — Pr 108.2 $
; Ll® Ch e ¢
? e . E: 216 3
;3. Afire is sighted from two ranger stations that are 4,000 m Ce 3
: apart. The angles of observation to the fire measure 50° from Y: 75.6 3
§ one station and 43° from the other station. Find the distance ' :
; along the line of sight to the fire from the closer of the two I: 27317 g
, stations. 3
: % \ T: 4.9 :
g @o \&?)o\ W: 305 s
: 4po0 :
;4. Aloading ramp & m long makes a 24° angle with the level ground 8
' beneath it. The ramp is replaced by another ramp 16 m long. Find 3
the angle that the new ramp makes with the ground. $

4 3 2 1 2

Joke #20 §

- Law of Sine — Word Problems
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Solve for the miaaingﬁ!engtha and angles. Round your answers to the nearest tenth.
The answer to each problem will match a letter that will allow you to figure out the joke.

)

24.7

3

om 165

>

186.5
13.6

om ~Nem

~ £

0.5
7.8

8”

447
83"

O W I

321
22.9

ZTI

10 ft.

®

B.a=10,b=12,6=17,4B=____ 123.1 .

LI

439

6,3:5,0:9,452600,b=_—__ ']129

m

©4.5

7. a=20,b=8,c=14,/4C=____ 18.8

426

T O O

6. b=17,c=6,LA=75"a=____

Law of Cosine — Find the Miesing Lengths and Angles - : Joke #22 <
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Solve the following word problems. Round your answers to the nearest tenth. E
The answer to each problem will match a letter that will allow you to figure out the joke.

1. Two airplanes leave the same airport at the same time. The first
plane flies 170 km/h in a direction of 300°. The second plane flies [ 435.6
210 km/h in a direction of 220° After two hours, how far apart

are the planes? 300-900=8¢ 2070)=2#0 2(210)=420 M: 45.7
| I\ | 0: 34.1
0{(2/0 &d 3?‘0
D: 4923
2. A piece of wire 6.2 ft. lor’fé is bent into a triangular shape. One
side is 1.7 ft. long and another is 2.4 ft. long. Find the angles of J: 3054
the trlaﬂgle 1 E: %12
N: 425
3. A pee wee baeeball diamond is a 5quar6, each side being €0 ft. 5 Z:ZZ
long. The pitcher’s mound is 40 ft. from home plate. How far is ' 65.9

the pitchers’s mound to ﬂrat base?

wd | D: 296.4
10 b“ ' Y: 50.8 ‘

4. What is the perlmetcr of a equilateral triangle inscribed in a circle A: 775

with a radius of &". 43,6
b8.7

W: 2911

5. Plane A has been flying Tor an hour and a half at 400 mi/h head-
ing 130° from the Indianapolis International Airpori; Plane B has
been flying for one hour at 350 mi/h heading 15Q° from the same - 1600
airport. How far apart are the two planes? \50-\20'= 20° v5(400) =

Law of Cosine — Word Problems Joke #24 (
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Find the area of the triangles. Round your answers to the nearest tenth. The answer
to each problem will match a letter that will allow you to figure out the joke.

1, 2. | U: 82.7
10 m | 207 \ 18" L 741

47.5

s SR

194.0

12m 54”,1

8.3

o
»
> =

24 cm 102.4

24.9

20 om 144.0
86.2
195

103.6

B. a=14,b=12, LC =100°

.e

6. a=13,b=24,c=15

..

7fa=5,l9=9,6=10 11.8

8. b=13,¢c=20, LA=52° 105.8
163.7

22.4

9. a=23,¢=17,4LB =32

10. a=34,b=86,c =286

O m ™ O Z X &~ O® O

: 12.2
1. a2a=3b=12,¢c=10 '

Area of a Triangle — A = Veab sin y and Heron's formula Joke #2&
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